

2011 -
: 3 :

	مجزأة		
<b>04</b>	<b>01</b>	$x_0^2 + 5x_0 - 14 = 0$ $\left. \begin{array}{l} (1) \dots\dots\dots 5x - 7y = 175 \\ 5x_0 - 7y_0 = 17 \\ x_0^2 + 7y_0 = -3 \end{array} \right\} : \quad (1)$ $x_0 = 2 \quad x_0 = -7 \quad \Delta = 81$ $. Z \quad 7y_0 = -52 \quad x_0 = -7$ $. y_0 = -1 \quad x_0 = 2$	
	<b>01</b>	$(x_0; y_0) = (2; -1) :$	
	<b>02</b>	$: (1) \quad (2)$ $S = \{(7k + 2; 5k - 1) / k \in Z\}$	
<b>05</b>	<b>01.5</b>	$. p(z) = z^3 - 12z^2 + 48z - 128$ $. p(z) = (z - 8)(z^2 - 4z + 16) \quad (1)$	
	<b>01.5</b>	$. p(z) = 0 \quad ($ $. z_3 = 8 \quad z_2 = 2 + 2\sqrt{3}i \quad z_1 = 2 - 2\sqrt{3}i$ $: \quad C \quad B \quad A: \quad (2)$ $. z_3 = 8 \quad z_2 = 2 + 2\sqrt{3}i \quad z_1 = 2 - 2\sqrt{3}i$ $: \quad \frac{z_1 - z_3}{z_2 - z_3} \quad ($	
	<b>01</b>	$. \frac{z_1 - z_3}{z_2 - z_3} = e^{\frac{\pi}{3}i}$	
	<b>01</b>	$(z_1 - z_3) = e^{\frac{\pi}{3}i} (z_2 - z_3) \quad \frac{z_1 - z_3}{z_2 - z_3} = e^{\frac{\pi}{3}i} : \quad ($	

05		$\frac{\pi}{3} \quad C \quad B \quad A$ <p>02</p> $. B(1; 4; 3) \quad A(0; 2; 2)$ $:(AB) \quad (1)$ $(AB): \begin{cases} x=t \\ y=t+2 \\ z=t+2 \end{cases} ; t \in R$ <p>02</p> $. x-3y-2z+3=0 \quad (P) \quad (AB) \quad (2)$ <p>01</p> $t = -\frac{7}{4} \quad (4) \quad (3) \quad (2) \quad (1)$ $H\left(-\frac{7}{4}; \frac{1}{4}; \frac{1}{4}\right) \quad (P) \quad (AB)$
06		$. f(x) = \frac{1}{2}(x + \sqrt{x^2 - 4})$ <p>0.5</p> $\lim_{x \xrightarrow{>} 2} \frac{f(x) - f(2)}{x - 2} = \lim_{x \xrightarrow{>} 2} \frac{1}{2} \left( 1 + \sqrt{\frac{x+2}{x-2}} \right) = +\infty$ <p>0.5</p> $\lim_{x \xrightarrow{<} -2} \frac{f(x) - f(-2)}{x + 2} = \lim_{x \xrightarrow{<} -2} \frac{1}{2} \left( 1 + \sqrt{\frac{x-2}{x+2}} \right) = -\infty$ <p>0.25</p> $\lim_{x \rightarrow -\infty} f(x) = \lim_{x \rightarrow -\infty} \frac{1}{2} \left( \frac{4}{x - \sqrt{x^2 - 4}} \right) = 0 \quad (2)$ <p>0.5</p> $\lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} \frac{1}{2} (x + \sqrt{x^2 - 4}) = +\infty$ $f'(x) = \frac{1}{2} \left( 1 + \frac{x}{\sqrt{x^2 - 4}} \right) \quad (3)$

0.5

: f

f'(x)

:

0.5

x	$-\infty$	-2	2	$+\infty$
f'(x)	-			+
f(x)	0 $\searrow$ -1			$\nearrow$ 1 $\nearrow$ $+\infty$

0.5

$$\lim_{x \rightarrow +\infty} (f(x) - x) = \lim_{x \rightarrow +\infty} \frac{1}{2} \left( \frac{-4}{\sqrt{x^2 - 4} + x} \right) = 0 \quad (4)$$

0.25

:(C)

(5)

0.25

.  $-\infty$

(d): y = 0

.  $+\infty$

(d'): y = x

0.5

(C)

(6)

. (d')

(d)

(C)

0.5

(C)

(Δ)

$$x = \frac{5}{2}$$

$$f'(x) = \frac{4}{3} \quad (7)$$

$$y = \frac{4}{3}x - \frac{4}{3} : \frac{4}{3}$$

01

.(C)

(8)

